i 154

This Ultramas design console enclosure
system offers you four different sizes,
each with an open or closed console
surface.

By using the aluminium front panels
which are available as accessories for
the open design, the console area can
quickly and cheaply be adapted to
meet your requirements.

The enclosure is supplied as standard
with a front panel seal to keep liquids
out. The closed, recessed console sur-
face is designed for the flush-fitting

of membrane keypad areas, which we
will gladly design to your specifications
and also fit if required.

Mounting bosses for self-tapping
screws to match Euro card dimensions
are provided in the enclosure bases.
The mounting bosses with M3 threads
on the inside of the lid allow the fit-
ting of PCBs parallel to the operating
front, for example for short-stroke
push-buttons or LCD displays.
Ultrapult enclosures in combination
with wall brackets (available as acces-
sories) are ideal for wall fitting of
display, control or access equipment.




TV

Welcome to BOPLACity!

Enclosure material: ABS.

Colour:

Ingress protection:

Scope of delivery:

Lid and base,
4 screw covers,
4 rubber feet,

For technical data
see pages 646-650.
Light grey, similar
to RAL 7035;

screw covers and
wall brackets agate
grey, similar to
RAL 7038; special
colours on request,
minimum order
quantities 500+.

IP 40/DIN EN 60529

4 screws (front panels not
included in scope of delivery).

Accessories (additional charge):

FPP: Front panel for
console surface,
aluminium anodized 2 mm,
fixing by welded-on
headless pins from inside

FP: Rear panel,
aluminium anodized 2 mm,
plug-in

FPK: Rear panel,

plastic ABS, light grey,
similar to RAL 7035, 2 mm;
embossed on one side,
plug-in

UM-WLH: Wall brackets for tall
bases UMP..018
(set = 4 pieces)

UM-WLN: Wall brackets for low
bases UMP..014
(set = 4 pieces)

All dimensions in mm. Please refer to technical data. 155




U

Welcome to BOPLACity!

Operating surface closed

Order designation External dimensions in mm
Model Order no. w D H (rear)
UMP 32014 45320140 157.5 199 100
Accessories (additional charge}
Model Order no. Type Dimensions
FP 30014 56031400 Rear wall, aluminium 149 x 81.7
FPK 30014 56031410 Rear wall, plastic 149 x 81.7

157.5

145.2 7.8

2 124.2°3 4

337
-

30
3
S
3
3

UMP 32014 g |
— Console surface closed. - 3
— Membrane area 124.2 x 168.1 mm o insert.
with recess 1 mm deeper. S
— Pressed-in threaded inserts M3 on J* ]
the inside of the console area for o : :
fitting a mounting plate parallel - - 869 78
to the operating front. S el 108
— Rear open for accommodating a 1525

2 mm plug-in rear wall panel
(please order separately).

Z-2800463

Operating surface open - for aluminium front panel -

Order designation External dimensions in mm
Model Order no. W D H (rear)
UMP 32014 FP 45320145 157.5 199 100
Accessories (additional charge)

- Model Order no. Type Dimensions

B FPP 32000 29320180 For console area, alum. 168 x 124.0

FP 30014 56031400 Rear wall, aluminium 149 x 81.7
FPK 30014 56031410 Rear wall, plastic 149 x 81.7

157.5

145.2

124.2
101

3.5

UMP 32014 FP with FPP 32000 ——

— Console surface open; the cut-out i * =i
area is fitted with a wraparound ’ @l
seal (please order front panel
separately).

— Pressed-in threaded inserts M3 on
the inside of the console area for B , ‘ \
fitting a mounting plate parallel bl i 18 s

337
r

30
N
N
3
3
=
~

198.9
o
ﬁ
Q
[0]
o
e}
4
e
Y

30

1 )
to the operating front. s Bt N A
— Rear open for accommodating a SlE -
2 mm plug-in rear wall panel O e 25 I i — .
| > 88.9 7.8 716 . %
(please order separately). E 3 89 8 \ | &\9 -
114.1 100.1
129.5
132.5

Z-2800465

156 For wall brackets, see pages 160-161.




€44

Operating surface closed

Order designation

External dimensions in mm

Model Order no. W D H (rear)
UMP 62014 45620140 290.9 199 100
Accessories (additional charge)
Model Order no. Type Dimensions
FP 60014 56061400 Rear wall, aluminium 282.3 x 81.7
FPK 60014 56061410 Rear wall, plastic 282.3 x 81.7
290.9
278.6 35.8
o 257.6'8 7.8 |
0| | 26 4]
= —
1 R -
@ o | ®
o
o- %
bl @2mm =
o WPALES e
& \ T\
e > insert
bls Mﬁximm\® fl,a‘ A
125 | ¢ 23 15 @
Sls & 5 ; e
R & & _ , il = 2
o iiﬁg 12 ]é,% | 716 ] & ©
222.3 100.1
247.5

2629
265.9

Z-2800464

Operating surface open - for aluminium front panel -

Order designation

External dimensions in mm

Model Order no. W D H (rear)
UMP 62014 FP 45620145 290.9 199 100
Accessories (additional charge)
Model Order no. Type Dimensions
FPP 62000 29620180 For console area, alum. 168.0 x 257.3
FP 60014 56061400 Rear wall, aluminium 282,3x 81.7
FPK 60014 56061410 Rear wall, plastic 282.3x 81.7
e
257.6
° 234.4
o e} —m@
+ : + :
o +

33.7

0

R :
)
3
3

198.9

3

L @
éﬁ

Q

[0}

[0}

kel
%

30

30

125 | ¢ o+ 49

insert -
M3x5mm

"%

3.5,

a2

12.8
N
N
o)

Z-2800466

All dimensions in mm. Please refer to technical data.

157

BOPLA

A Phoenix Mecano Company

UMP 62014

— Console surface closed.

— Membrane area 257.6 x 168.1 mm
with recess 1 mm deeper.

— Pressed-in threaded inserts M3
on the inside of the console area
for fitting a mounting plate
parallel to the operating front.

- Rear open for accommodating a
2 mm plug-in rear wall panel
(please order separately).

UMP 62014 FP with FPP 62000

— Console surface open; the cut-out
area is fitted with a wraparound
seal (please order front panel
separately).

— Pressed-in threaded inserts M3
on the inside of the console area
for fitting a mounting plate
parallel to the operating front.

— Rear open for accommodating a
2 mm plug-in rear wall panel
(please order separately).




U

Welcome to BOPLACity!

Operating surface closed

Order designation External dimensions in mm
Model Order no. w D H (rear)
UMP 32018 45320180 157.5 199 120
Accessories (additional charge)
Model Order no. Type Dimensions
FP 30018 56031800 Rear wall, aluminium 149 x 102
2 T — FPK 30018 56031810 Rear wall, plastic 149 x 102
H 157.5 56.1
145.2 7.8
2 1242733 all
E 5/ -
+ = i\ WA
5 @i — }
UMP 32018 \
— Console surface closed. o 8 Ll \z
— Membrane area 124.2 x 168.1 mm & a4 %C%o
with recess 1 mm deeper. 3 giq} \
— Pressed-in threaded inserts M3 on {38 N3
the inside of the console area for 125 1] te %{ 5 B
fitting a mounting plate parallel Sl | 2
to the operating front. I M R Vo ©
— Rear open for accommodating a e XY 78 \” 92 | &\5’0
2 mm plug-in rear wall panel -~ %3?, - 120.4 7]
(please order separately). sort
M 3x5mm Z-2800358
Operating surface open - for aluminium front panel -
Order designation External dimensions in mm
Model Order no. W D H (rear)
UMP 32018 FP 45320185 157.5 199 120
_'___1 Accessories (additional charge)
Model Order no. Type Dimensions
1 FPP 32000 29320180 For console area, alum. 168 x 124
C——— FP 30018 56031800 Rear wall, aluminium 149 x 102
FPK 30018 56031810 Rear wall, plastic 149 x 102
a5
UMP 32018 FP with FPP 32000 o ot
— Console surface open; the cut-out i
area is fitted with a wraparound i +
seal (please order front panel H Saull
separately). s Rl
— Pressed-in threaded inserts M3 on ¥ pomm | 1144 T
the inside of the console area for > m,@(‘ S deep -
fitting a mounting plate parallel = S
to the operating front. 0—9‘> M'g‘xsggﬁ
— Rear open for accommodating a Bl :
2 mm plug-in rear wall panel Vo %’Q Tl
(please order separately). N e i
A‘Ln l «© 88.9
il . 109.8
1141
132.5

Z-2800360

158 For wall brackets, see pages 160-161.




€44

BOPLA

A Phoenix Mecano Company

Operating surface closed

Order designation

External dimensions in mm

Model Order no. W D H (rear)
UMP 62018 45620180 290.9 199 120
Accessories (additional charge)
Model Order no. Type Dimensions
FP 60018 56061800 Rear wall, aluminium 282.3 x 102
FPK 60018 56061810 Rear wall, plastic 282.3 x 102
290.9
278.6 56.1
o 257.6%% 7.8
2 © 26 4
i : == |
¥ + <
2 o |®
i3 @i
DQV @ 2mm * e
o | /6 deep ‘ G2,
& A Cle\ee
. . insert
=] & A Mi’ixSmm 23]
125 ¢ S 1‘.5 %
» @ s ‘ a2
o & & : : ) Ll \ L3 \© @
‘;o)_ ﬁig a12) 7.8 ‘31‘1 ‘X\;,;
2223 [ 1204
247.5
2629

Operating surface open - for a

Order designation

Z-2800359

luminium front panel -

External dimensions in mm

Model Order no. W D H (rear)
UMP 62018 FP 45620185 290.9 199 120
Accessories (additional charge)
Model Order no. Type Dimensions
FPP 62000 29620180 For console area, alum. 168 x 257.3
FP 60018 56061800 Rear wall, aluminium 282.3x 102
FPK 60018 56061810 Rear wall, plastic 282.3x 102
5984
257.6
- © 234.;16
') 2 N
+ bd =
& s 23@ &
L? 0 2mm * ¥ oare *
o (7 /5 deep ) ) .
© & 4 $ ol
‘ . ‘ insert_,|I
b i s * N:Sigmm i
125 4] 1 | 40 Syl
58 =&
ﬁ : 23.5 : (1.12)
- 222.3
2432
247.5
262.9

Z-2800361

UMP 62018

— Console surface closed.

— Membrane area 257.6 x 168.1 mm
with recess 1 mm deeper.

— Pressed-in threaded inserts M3
on the inside of the console area
for fitting a mounting plate
parallel to the operating front.

— Rear open for accommodating a
2 mm plug-in rear wall panel
(please order separately).

Pl

UMP 62018 FP with FPP 62000

— Console surface open; the cut-out
area is fitted with a wraparound
seal (please order front panel
separately).

— Pressed-in threaded inserts M3
on the inside of the console area
for fitting a mounting plate
parallel to the operating front.

— Rear open for accommodating a
2 mm plug-in rear wall panel
(please order separately).

All dimensions in mm. Please refer to technical data.

159




U

Welcome to BOPLACity!

Wall brackets UM-WLH

Order designation

Model Order no. Description

UM-WLH 56002000 for UMP 32018 /62018 only

-

Wall brackets UM-WLH

By using wall brackets, the UMP
enclosures can be fitted to the wall.
Wall brackets UM-WLH are suitable
for fitting to high half-shells (side
height 31.1 mm).

Fitting is by side insertion and
screwing of the intermediate piece.
This does not affect enclosure
screwing.

Wall brackets UM-WLN

Order designation

Model Order no. Description

UM-WLN 56002100 for UMP 32014 / 62014 only

Wall brackets UM-WLN

By using wall brackets, the UMP
enclosures can be fitted to the wall.
Wall brackets UM-WLN are suitable
for fitting to low half-shells (side
height 10.8 mm).

Fitting is by screwing the brackets
into the enclosure screwing points.

160




€44

BOPLA

A Phoenix Mecano Company

Table of dimensions UM-WLH
Enclosures W D
320... 171.50 150 3
620... 304.85 150
€] © i
3
! ! <
0 - h 5.65
—
[ !
T T
! ‘ i,)- o
g & i
6.5
Z-2801096
Table of dimensions UM-WLN
Enclosures W D
320... 171.50 150 3
620... 304.85 150
T
B N @ 8
! I - 5.65
—
[ !
T T
' ' O o
<~
[ &) = H
e IS B(
6.5

Z-2801097

All dimensions in mm. Please refer to technical data.

161




